
HANDLE COMPLETE

1

2  

TRAY LID ELASTIC CORD
06-C02-LD-LDCRD

TRAY LID 
P1C-04BL-HCPPXX

7  TRAY 
P1S-05BL-HCPPXX

9  BALL HOLDER CLIP 
09-P05

10 SCREW ST3.5X15X18PWA
09-M01

11 CUP HOLDER PLUS  
P35-62B-HCPPXX

3 M5X42 BOLT

4 UMBRELLA MOUNT (TOP)
06-P44-U100-02

06-M29-M5X42PM

SL-SILVER CH-BLACK AW-WHITE

5 UMBRELLA MOUNT (BOTTOM)
06-P45-U005-00

6 M5 NYLOCK NUT
06-M43-M5NL

8 HANDLE FOAM
Z1C-03X-HCXXXX

12 HANDLE TUBE
T1S-02##-HC25XX

14 UMBRELLA CORD
06-P46-007-UK

13 

13 

ST4.0X18mm  SCREW
06-M41-ST4X18PT

15 UMBRELLA HOLDER
06-P43-U101-02

16 

17

UMBRELLA CLIP
09-P03 

17 M6 NYLOCK NUT
06-M44-M6X6NL

18 

18 

MOUNT TAB
06-P62-U011-00

19  

19  19  

M6X35 BOLT
06-M27-M6X35PM

21 ST4X10 SCREW
B1C-29X-HCST04

20 PLASTIC CLIP 
P1S-07BL-HCPA66

*

* ##-TO SPECIFY COLOR

V2.0


